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3rd Month, 2nd Week, 6th Day Revision Test (2nd Week)

 Choose the correct Options (1 ×13 = 13) 
(1) Proportion means: 

(a) Equality of two ratios   (b) Equality of quantities 

(c) Inequality of two ratios  (d) Inequality of quantities 

(2) A set consisting of all subsets of the set A is called:  A 
(a) Subset  (b) Universal set  (c) Power set  (d) superset 

(3) If P(A) = ( , {a}, {b}}, then set A is equal to:  A  P(A) = ( , {a}, {b}} 
(a) (b) {a} (c) {b} (d) {a, b}

(4) If U = {1, 2, 3, ....., 10} and A = {2, 4, 6, ......, 10} and B = {1, 2, 3,.....,9}
then (A–B)c is equal to:

 (A–B)c  B = {1, 2, 3,.....,9}  A = {2, 4, 6, ......, 10}  U = {1, 2, 3, ....., 10} 
(a) U (b) B (c) A (d)

(5) The relation between to are more proportions is called:


(a) compound  (b) direct  (c) proportion  (d) inverse 

(6) A person who buys life insurance from an insurance company is called:


(a) insured  (b) insurer  (c) lesser  (d) beneficiary 

(7) The cost price of a toy car is Rs. 100. If it is sold at 10% discount then
the selling price of the toy car:

 10  100 


(a) Rs.90  90 (b) Rs.110  110 (c) Rs.80  80 (d) Rs.120  120

(8) The time for which a particular amount is invested in a business is

known as: 
(a) Profit  (b) Markup Rate  (c) Period  (d)

Principal Amount



(9) Product of extremes is equal to: 

(a) direc proportion


(b) inverse proportion


(c) products of means


(d) division of means


(10) To reduce the price of an article from its market price is called:


(a) Discount  (b) profit  (c) Period  (d) Insurance 

(11) If a is not a member of the set A, then symbolicaly it is denoted by:

 Aa 
(a) aA (b) a \ A (c) aA (d) a A

(12) Which of the following is not a set? 
(a) {1,2,3} (b) {a,b,c} (c) {2,3,4} (d) {1,2,2,4}

(13) If a is not a member of the set A, then symbolicaly it is denoted by:

 Aa 
(a) aA (b) a \ A (c) aA (d) a A

 Answer the following questions: (2 × 4 =8)  
1. A man died leaving a saving of Rs. 72,000 in the bank. Find the share of

each: widow, one son and one daughter.

 72000 
2. Write all the subsets of the following sets: 

   A = {1, 2, 3, 4}        B = {a, b, c}
3. Mrs. Razia paid her driver Rs. 2500 for 5 days. What amount will she

pay him for 10 days? Also draw its grap.

 2500  5 
4. If 15 men take 85 days to build a wall, how long would a take for 10

men? Also draw its graph.

 10  85  15 
Q.3. Q.3.Asghar Ali died leaving  assets worth Rs. 625275. Funeral expenses

were Rs. 5275. He had to pay RS. 50,000 as debt. After making these

payments, his widow shall get  of the remaining property. Find the

share of his son and one daughter when share of of son is double the
share of his daughter. (1×4 = 4)

 50000  5275  625275 
  



1 1


